/* ułamki ...proszę dopisać resztę */

#include<stdio.h> 

typedef struct     /* dodatnie ... */

       { int l;

         int m;

       } ulamek;

void utworz(int, int, ulamek *);       

void suma(ulamek, ulamek, ulamek *);

void roznica(ulamek, ulamek, ulamek *);

void iloczyn(ulamek, ulamek, ulamek *);

void iloraz(ulamek, ulamek, ulamek *);

int  nwd(int , int);

main()

{

  ulamek a,b,c;

  utworz(1,2,&a);


  utworz(2,3,&b);

  suma(a,b,&c);


  printf("%d/%d\n",c.l,c.m);

  roznica(a,b,&c);

  printf("%d/%d\n",c.l,c.m);

  iloczyn(a,b,&c);


  printf("%d/%d\n",c.l,c.m);

  iloraz(a,b,&c);


  printf("%d/%d\n",c.l,c.m);


 }

int nwd(int a, int b)


{ int temp;


  if(a<b)


   { temp=a; a=b; b=temp; }


  while(b)


   { temp=b;


        b=a%b;

        a=temp;

   }

  return a;

}

void utworz(int a, int b, ulamek *z)

{ int c;

  c = nwd(a,b);

  z->l = a/c;

  z->m = b/c;

}

void suma(ulamek x, ulamek y, ulamek *z)

{ int a,b,c;

  a = x.l * y.m + x.m * y.l;

  b = x.m * y.m;

  c = nwd(a,b);

  z->l = a/c;

  z->m = b/c;

}

void roznica(ulamek x, ulamek y, ulamek *z)

{ int a,b,c;

  a = x.l * y.m - x.m * y.l;

  b = x.m * y.m;

  c = nwd(a,b);

  z->l = a/c;

  z->m = b/c;

}       

void iloczyn(ulamek x, ulamek y, ulamek *z)

{ int a,b,c;

  a = x.l * y.l;

  b = x.m * y.m;

  c = nwd(a,b);

  z->l = a/c;

  z->m = b/c;

} 

void iloraz(ulamek x, ulamek y, ulamek *z)

{ int a,b,c;

  a = x.l * y.m;

  b = x.m * y.l;

  c = nwd(a,b);

  z->l = a/c;

  z->m = b/c;

} 

